




Class-VII (Main)/03

[Time : 2.00 Hours] Full Marks  :  400

GOAL TALENT SEARCH EXAM : 24.12.2023

CLASS : VII - MAIN EXAM

01. The measure of degree of hotness or coldness of
an object is :
(1) Temperature (2) Heat
(3) Celsius (4) Fahrenheit

02. The range of a laboratory thermometer is
generally from :
(1) –20 °C to 80 °C (2) –30 °C to 70 °C
(3) –25 °C to 125 °C (4) –10 °C to 110 °C

03. Which of the following statements is true ?
(1) Sea breeze happens during day time when

the land is cooler than the sea.
(2) Land breeze happens during night time when

the land is cooler than the sea.
(3) Land breeze happens during day time when

the sea is cooler than the land.
(4) Sea breeze happens during night time when

the sea is cooler than the land.
04. A laboratory thermometer A is kept 10 cm away

on the side of the flame while a similar
thermometer B is kept 10 cm above the flame of
a candle as shown in figure below.

Which of the thermometers, will show a greater
rise in temperature ?
(1) A
(2) B
(3) Both (A) and (B) will read same temperature.
(4) None of these

05. A car moves with a speed of 15 m/s for
20 minutes and then with a speed of 25 m/s for
the next 20 minutes. The total distance covered
by the car is :
(1) 36 km (2) 60 km (3) 48 km (4) 54 km

06. Graph given below
shows the distance-time
graph for the motion of
two cars A and B. Which
one of them is moving
faster ?
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(1) A
(2) B
(3) Both A and B are moving with same speed
(4) None of these

01. fdl h oLrq dh xekZgV ; k BaMd dh fMxzh dk eki  gS %
(1) rki eku (2) rki
(3) l sfYl ; l (4) i QkjsugkbV

02. ç; ksx' kkyk FkekZehVj dh l hek l kekU; r% gksrh gS %
(1) –20 °C to 80 °C (2) –30 °C to 70 °C

(3) –25 °C to 125 °C (4) –10 °C to 110 °C

03. fuEufyf• r esa l s dkSu l k dFku l R;  gS\
(1) l eqæh gok fnu ds l e;  pyrh gS t c Hkwfe l eqæ dh rqyuk esa BaMh

gksrh gSA
(2) LFkyh;  gok jkr ds l e;  pyrh gS t c LFky l eqæ dh rqyuk esa

BaMk gksrk gSA
(3) LFkyh;  gok fnu ds l e;  pyrh gS t c l eqæ LFky dh rqyuk esa

BaMk gksrk gSA
(4) l eqæh gok jkr ds l e;  pyrh gS t c l eqæ Hkwfe dh rqyuk esa BaMk

gksrk gSA
04. ,d ç; ksx' kkyk FkekZehVj A dks ykS dh rj i Q l s 10 l seh nwj j• k t krk

gS t cfd ,d l eku FkekZehVj B dks eksecÙkh dh ykS l s 10 l seh Åi j
j• k t krk gS t Sl k fd uhps fn,  x,  fp=k esa fn• k; k x; k gSA

buesa l s dkSu l k FkekZehVj] rki eku esa vf/ d òf¼ fn• k, xk\
(1) A
(2) B
(3) (A) vkSj (B) nksuksa , d gh rki eku i Bu djsaxsA
(4) buesa l s dksbZ ugha

05. ,d dkj  20 feuV ds fy,  15 ehVj@l sdsaM dh xfr l s pyrh gS vkSj
fi Qj vxys 20 feuV ds fy,  25 ehVj@l sdsaM dh xfr ds l kFk pyrh
gSA dkj  }kjk r;  dh xbZ dqy nwjh gS%
(1) 36 fdeh (2) 60 fdeh (3) 48 fdeh(4) 54 fdeh

06. uhps fn; k x; k xzki Q nks dkjksa A vkSj
B dh xfr ds fy,  nwjh&l e;  xzki Q
fn• krk gSA muesa l s dkSu rst  py
jgh gS\

A

B

(1) A

(2) B

(3) A vkSj B nksuksa l eku xfr l s py jgs gSa
(4) buesa l s dksbZ ugha
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07. Motion of Jupiter planet around the Sun is an
example of _______ .
(1) Circular motion (2) Motion oscillatory
(3) Rectilinear motion (4) Periodic motion

08. A fuse wire is a/an :
(1) conductor with low melting point
(2) conductor with high melting point
(3) insulator with low melting point
(4) insulator with high melting point

09. Match Column-I and Column II :
Column-I Column-II

(p) Bulb (i)
(q) Cell (ii) + –

(r) Battery (iii)

(s) Wire (iv) + –

(t) Open switch (v)
(1) (p-v), (q-iv), (r-ii), (s-i), (t-iii)
(2) (p-v), (q-ii), (r-iv), (s-i), (t-iii)
(3) (p-i), (q-ii), (r-iii), (s-iv), (t-v)
(4) (p-ii), (q-iii), (r-v), (s-i), (t-iv)

10. Which of the following is not a circuit element?
(1) Battery (2) Voltmeter
(3) Current (4) Ammeter

11. A convex mirror always produces :
(1) a real, inverted image of enlarged size.
(2) an erect, virtual image of enlarged size
(3) an erect, real image of diminished size
(4) an erect, virtual image of diminished size

12. David is observing his image in a plane mirror.
The distance between the mirror and his image
is 6 m. If he moves 2 m towards the mirror, then
the distance between David and his image will
be :
(1) 4 m (2) 8 m (3) 7 m (4) 9 m

13. Small letters can not be easily read. Which one
of the following lenses is mostly used for the
purpose ?
(1) Convex lens (2) Concave lens
(3) Planoconcave lens (4) Plane lens

14. Which of the following is not luminous object ?
(1) Sun (2) Bulb (3) Moon (4) Stars

15. The electric cell has :
(1) one terminal
(2) three terminals
(3) two terminals
(4) a number of terminals

07. l w; Z ds pkjksa vksj cg̀Li fr dh xfr _______ dk ,d mnkgj.k gSA
(1) òÙkkdkj xfr (2) nksyu' khy xfr
(3) l jyjs• h;  xfr (4) vkorhZ xfr

08. ,d Ý; wt  rkj gS %
(1) de xyukad okyk pkyd
(2) mPp xyukad okyk pkyd
(3) de xyukad okyk bUl qysVj
(4) mPp xyukad okyk bUl qysVj

09. LraHk-I vkSj LraHk-I dk feyku djsa%
LraHk-I LraHk-II

(p) cYc (i)
(q) l sy (ii) + –

(r) cSVjh (ii)
(s) rkj (iv) + –

(t) [ kqyk fLop (v)
(1) (p-v), (q-iv), (r-ii), (s-i), (t-iii)
(2) (p-v), (q-ii), (r-iv), (s-i), (t-iii)
(3) (p-i), (q-ii), (r-iii), (s-iv), (t-v)
(4) (p-ii), (q-iii), (r-v), (s-i), (t-iv)

10. fuEufyf• r esa l s dkSu l k , d l fdZV dk vo; o ugha gS\
(1) cSVjh (2) oksYVehVj
(3) / kjk (4) ,ehVj

11. ,d mÙky ni Z.k l nSo cukrk gS %
(1) cM+s vkdkj  dh okLrfod] myVh NfoA
(2) cM+s vkdkj  dh l h/ h] vkHkkl h Nfo
(3) NksVs vkdkj dh l h/ h] okLrfod Nfo
(4) NksVs vkdkj dh l h/ h] vkHkkl h Nfo

12. MsfoM l ery ni Z.k esa vi uh Nfo ns•  jgk gSA ni Z.k vkSj ml dh Nfo
ds chp dh nwjh 6 ehVj gSA ; fn og ni Z.k dh vksj  2 ehVj pyrk gS]
rks MsfoM vkSj ml dh Nfo ds chp dh nwjh gksxh%
(1) 4 ehVj (2) 8 ehVj
(3) 7 ehVj (4) 9 ehVj

13. NksVs v{kj  vkl kuh l s ugha i <+s t k l drs. fuEufyf• r esa l s fdl  ysal
dk mi ; ksx vf/ drj  bl  mís' ;  ds fy,  fd; k t krk gS\
(1) mÙky ysal (2) vory ysal
(3) l erykory ysal (4) l ery ysal

14. fuEufyf• r esa l s dkSu l h pednkj oLrq ugha gS\
(1) l w; Z (2) cYc (3) paæek (4) rkjs

15. fo| qr l sy esa gksrs gS &
(1) ,d VfeZuy
(2) rhu VfeZuy
(3) nks VfeZuy
(4) dbZ VfeZuy
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16. A moving particle always remains at the same
distance from a fixed point. The moving particle
is performing which type of motion.
(1) circular (2) rotatory
(3) translatory (4) periodic

17. Choose the correct method for arranging three
bar magnets.
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18. Which of the following acids is present in acid
rain ?
(1) Sulphuric acid (2) Nitric acid
(3) Carbonic acid (4) All of the above

19. Acids present in fruits and vegetables are called:
(1) organic acids (2) mineral acids
(3) weak acids (4) both ‘1’ and ‘3’

20. Which of the following is correctly matched ?
(1) Substances that turn — Bases

red litmus blue
(2) Substances used for — Indicators

testing acids and bases
(3) An example of neutral — Salt

substance
(4) All of the above

21. Identify the correct statement.
(1) Bases are corrosive and have sour taste.
(2) Milk of magnesia contains magnesium

hydroxide.
(3) Sodium hydroxide is a weak base.
(4) Base is produced during neutralisation.

22. Calamine solution is applied on the area of ant
bite. Calamine solution contains :
(1) Na2CO3 (2) NaHCO3 (3) ZnCO3 (4) NaCl

23. Which of the following is not a physical change?
(1) Growth of a tree (2) Photosynthesis
(3) Germination of seed (4) All of the above

16. ,d xfreku d.k ,d fuf' pr fcanq l s l nSo l eku nwjh i j  jgrk gSA
xfreku d.k fdl  çdkj dh xfr dj jgk gS\
(1) or̀kdkj (2) ?kw.kZu' khy
(3) vuqoknkRed (4) vkof/ d

17. rhu ckj pqEcdksa dks O; ofLFkr djus dh l gh fof/  pqusaA
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18. fuEufyf• r esa l s dkSu l k vEy vEyh;  o"kkZ esa ekSt wn gksrk gS\

(1) l YÝ; wfjd , fl M (2) ukbfVªd , fl M

(3) dkckZsfud , fl M (4) mi jksÙkQ l Hkh

19. i Qyksa , oa l fCt ; ksa esa mi fLFkr vEy dgykrs gSa%
(1) dkcZfud vEy (2) • fut  vEy
(3) det ksj  vEy (4) ‘1’  vkSj ‘3’ nksuksa

20. fuEufyf• r esa l s dkSu l k l gh l qesfyr gS\
(1) os i nkFkZ t ks yky fyVel – {kkj

dks uhyk dj  nsrs gSa
(2) vEy vkSj {kkj  ds i jh{k.k ds– l adsrd

fy,  mi ; ksx fd,  t kus okys i nkFkZ
(3) mnkl hu i nkFkZ dk mnkgj.k – yo.k
(4) mi jksÙkQ l Hkh

21. l gh dFku i gpkusaA
(1) {kkj  l a{kkjd gksrs gSa vkSj budk Lokn • êðk gksrk gSA
(2) feYd vkWi Q eSXusf' k; k esa eSXuhf' k; e gkbMªkWDl kbM gksrk gSA
(3) l ksfM; e gkbMªkWDl kbM , d det ksj  {kkj  gSA
(4) mnkl huhdj.k ds nkSjku {kkj  dk fuekZ.k gksrk gSA

22. phaVh ds dkVus okyh t xg i j  dSykekbu dk ?kksy yxk; k t krk gSA
dSykekbu ?kksy esa ' kkfey gSa%
(1) Na2CO3 (2) NaHCO3 (3) ZnCO3 (4) NaCl

23. fuEufyf• r esa l s dkSu l k HkkSfrd i fjorZu ugha gS\
(1) i sM+ dh of̀¼ (2) çdk' k l a' ys"k.k
(3) cht  dk vadqj.k (4) mi jksÙkQ l Hkh
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24. Which of these methods could be used to separate
an insoluble solid from a soluble solid ?

(1) Mixing the mixture with water and then
filtering it. Then we could evaporate the
water from the resulting filtrate.

(2) Mixing the mixture with water and then
filtering it. Then we could evaporate the sand
from the resulting solid.

(3) Mixing the mixture with oil and then filtering
it. Then we could evaporate the solid out.

(4) Both (2) and (3)

25. List of different component is given. Identify
their method of separation and choose the
correct option.

(i) Tea leaves from tea

(ii) Butter from milk

(iii) Sand from water

(iv)Paneer from milk

(1) (i), (ii), (iii) and (iv) by filtration

(2) (i), (iii) and (iv) by filtration

(3) (ii) and (iv) by sedimentation

(4) (i), (iii) and (iv) by churning.

26. In the given reaction :

(X) + CO2 (Y) + (Z)
China rose
indicator

Red litmus
solution

(Milky)

Turns green No change
in colour

X, Y and Z are respectively

X Y Z

(1) CaCO3 Ca(OH)2 H2O

(2) Ca(OH)2 CaCO3 H2O

(3) Mg(OH)2 H2O MgO

(4) Ca(OH)2 H2O CaCO3
27. Priya prepared an indicator paper by dipping a

paper strip in a solution of P. She put a few drops
of an unknown solution Q (in which number of
H+ ions is less than that of OH– ions) on this
paper. She observed that the colour of paper
turned yellow. Solutions P and Q could be
respectively

(1) Red litmus solution and tamarind juice

(2) Phenolphthalein and baking soda solution

(3) Methyl orange and lime water

(4) Turmeric solution and lemon juice

24. v?kqyu' khy Bksl  dks ?kqyu' khy Bksl  l s vyx djus ds fy,  buesa
l s fdl  fof/  dk mi ; ksx fd; k t k l drk gS\
(1) feJ.k dks i kuh esa feykdj  Nku ysaA fi Qj ge i fj .kkeh fuL; an

l s i kuh dks okf"i r dj  l drs gSaA
(2) feJ.k dks i kuh esa feykdj  Nku ysaA rc ge i fj .kkeh Bksl  l s

jsr dks okf"i r dj  l drs gSA
(3) feJ.k dks rsy esa feykdj  Nku ysaA rc ge Bksl  dks okf"i r

dj  ckgj  fudky l drs gSA
(4) (2) vkSj (3) nksuksa

25. fofHkUu ?kVdksa dh l wph nh xbZ gSA muds i F̀kDdj.k dh fof/  dks
i gpkusa vkSj l gh fodYi  pqusaA
(i) pk;  l s pk; i Ùkh
(ii) nw/  l s eD• u
(iii) i kuh l s jsr
(iv)nw/  l s i uhj
(1) (i), (ii), (iii) vkSj  (iv) fuLi anu }kjk
(2) (i), (iii) vkSj  (iv) fuLi anu }kjk
(3) (ii) vkSj  (iv) vol knu }kjk
(4) (i), (iii) vkSj  (iv) eaFku }kjkA

26. nh xbZ çfrfØ; k esa%

Øe' k% X, Y vkSj Z gSa
X Y Z

(1) CaCO3 Ca(OH)2 H2O

(2) Ca(OH)2 CaCO3 H2O

(3) Mg(OH)2 H2O MgO

(4) Ca(OH)2 H2O CaCO3
27. fç; k us , d dkxt  dh i êðh dks P ds ?kksy esa Mqckdj , d l wpd

dkxt  rS; kj  fd; kA ml us bl  dkxt  i j  , d vKkr ?kksy Q (ft l esa
H+ vk; uksa dh l a[ ; k OH– vk; uksa dh l a[ ; k l s de gS) dh dqN
cw¡nsa MkyhaA ml us ns• k fd dkxt  dk jax i hyk gks x; kA ?kksy Øe' k%
P vkSj Q gks l drs gSa
(1) yky fyVel  ?kksy vkSj beyh dk j l
(2) i QsuksYi QFksfyu vkSj csfdax l ksMk dk ?kksy
(3) feFkkby vkWjsat  vkSj pwuk t y
(4) gYnh dk ?kksy vkSj uhacw dk j l
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28. Read the given statements and select the correct
option.

Statement I : To neutralise the effect of a bee
sting, that portion of the body is rubbed with
moist baking soda.

Statement II : Baking soda contains sodium
carbonate which neutralises the effect of acid
injected by bee sting.

(1) Both Statement I and II are true and
Statement II is the correct explanation of
Statement I.

(2) Both Statement I and II are true but
Statement II is not the correct explanation
of Statement I.

(3) Statement I is true and Statement II is false.

(4) Both Statements I and II are false.

29. Which of the following given natural process is
an example of condensation process ?

(1) Formation of rainbow

(2) Formation of clouds

(3) Blue colour of sea

(4) Formation of salt from sea water

30. A solution is given which is prepared by adding
sugar crystals to water. The solution as shown
in diagram is :

Stirrer

Sugar
solutionSugar

crystals

Beaker

(1) a saturated solution

(2) an unsaturated solution

(3) a clear solution

(4) a supersaturated solution

28. fn,  x,  dFkuksa dks i <+sa vkSj l gh fodYi  pqusaA

dFku I : e/ qeD• h ds Mad ds çHkko dks csvl j  djus ds fy, ]
' kjhj  ds ml  fgLl s dks ue csfdax l ksMk l s jxM+k t krk gSA

dFku II : csfdax l ksMk esa l ksfM; e dkckZsusV gksrk gS t ks e/ qeD• h
ds Mad l s fudyus okys , fl M ds çHkko dks fuf"Ø;  dj  nsrk gSA

(1) dFku I vkSj II nksuksa l R;  gSa vkSj  dFku II dFku I dh l gh
O; k[ ; k gSA

(2) dFku I vkSj II nksuksa l R;  gSa ysfdu dFku II dFku I dh l gh
O; k[ ; k ugha gSA

(3) dFku I l R;  gS vkSj dFku II xyr gSA

(4) dFku I vkSj II nksuksa xyr gSaA

29. fuEufyf• r esa l s dkSu l h çkÑfrd çfØ; k l a?kuu çfØ; k dk
mnkgj.k gS\
(1) baæ/ uq"k dk fuekZ.k
(2) cknyksa dk cuuk
(3) l eqæ dk uhyk jax
(4) l eqæh t y l s ued dk fuekZ.k

30. , d ?kksy fn; k x; k gS t ks i kuh esa phuh ds fØLVy feykdj  rS; kj
fd; k x; k gSA fp=k esa fn• k; k x; k foy; u gS%

(1) , d l arÌr foy; u
(2) , d v l arÌr foy; u
(3) , d Li "V foy; u
(4) , d vfrl arÌr foy; u
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31. Study the given venn diagram carefully.

Irreversiable
change

Reversible
change

2 3 1

Identify 1, 2 and 3.
1 2 3

(1) Melting Rusting Cutting a
of ice or iron log of wood

(2) Glowing Bursting Crystallisation
of bulb of tyre

(3) Stitching of Burning a Burning of a
garments matchstick candle

(4) Melting Decomposition Sublimation
of ice of sugar

32. Fill in the blanks by observing the following
chemical process as shown in the figure. The
given process becomes faster when humidity is

x  and can be prevented by applying a coat of
y , or by depositing a layer of a metal like z

on iron.

(a) ( )c

Most air (b)

(1) a-Mg, b-O2, c-MgO, x-low, y-water, z-copper
(2)a-Ca, b-CO2 ,  c-CaCO3,  x-high, y-oil,

z-magnesium
(3) a-Fe, b-O2 & H2O, c-Fe2O3, x-high, y-grease,

z-zinc
(4) a-Fe, b-H2O & O2, c-FeO, x-low, y-paint, z-zinc

33. Observe the given figure carefully and identify
the substances marked as (x), (y) and (z).

Splinter burning
with a pop sound

(z)

(y)

(x)

(x) (y) (z)
(1) Zinc Water Carbon

dioxide
(2) Magnesium Hydrochloric Oxygen

acid
(3) Magnesium Water Carbon

dioxide
(4) Zinc Hydrochloric Hydrogen

acid

31. fn,  x,  osu vkjs•  dk è; kui woZd vè; ; u djsaA

1] 2 vkSj 3 dks i gpkusa.
1 2 3

(1) ci ZQ dk yksgs esa t ax ydM+h dk , d yV~Bk
fi ?kyuk yxuk dkVuk

(2) cYc dk Vk; j  dk fØLVyhdj.k
peduk i QVuk

(3) oL=kksa dh ekfpl  dh rhyheksecÙkh dk t yuk
fl ykbZ dk t ykuk

(4) ci ZQ dk phuh dk mèoZi kru
fi ?kyuk vi ?kVu

32. t Sl k fd fp=k esa fn• k; k x; k gS] fuEufyf• r jkl k; fud çfØ; k dk
voyksdu djds fjÙkQ LFkku HkjsaA ueh x  gksus i j nh xbZ i zfØ; k
rst  gks t krh gS vkSj y  dks ysi  yxkdj vFkok yksgs i j  z

t Sl h / krq dh i j r t ek djds jksdk t k l drk gSA

(a) ( )c

(1) a-Mg, b-O2, c-MgO, x-de, y-t y, z-dkWi j
(2)a-Ca, b-CO2 ,  c-CaCO3 ,  x -mPp ,  y-r sy ,

z-eSXusf' k; e
(3) a-Fe, b-O2 & H2O, c-Fe2O3, x-mPp, y-xzhl , z-ft ad
(4) a-Fe, b-H2O & O2, c-FeO, x-de, y-jaxuk, z-ft ad

33. fn,  x,  fp=k dks è; ku l s ns• sa vkSj (x), (y) vkSj (z) ds : i  esa
fpfÉr i nkFkks± dh i gpku djsaA

(z)

(y)

(x)

(x) (y) (z)

(1) ft ad t y dkcZuMkbvkWDl kbM
(2) eSXuhf' k; e gkbMªksDyksfjd vkWDl ht u

v Ey
(3) eSXuhf' k; e t y dkcZuMkbvkWDl kbM
(4) ft ad gkbMªksDyksfjd gkbMªkst u

v Ey
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34. (i) Sun is the ultimate source of energy for all
living organisms.

(ii) The nucleus is surrounded by a semi-fluid
substances called cytoplasm.

(iii) The plant which traps and feeds on insects
is cuscuta.

(iv)Fungi obtain their nutrition from dead and
decaying matter.

How many statements are correct ?
(1) One (2) Two (3) Three (4) Four

35. What is the product of photosynthesis ?
(1) Glucose and Oxygen
(2) Glucose and Water
(3) Protein and oxygen
(4) Protein and carbon dioxide

36. What is the role of phloem in the plant ?
(1) Transport of water and mineral
(2) Transport of food
(3) Synthesis of carbohydrates
(4) Absorption of water

37. Choose the correct matched pairs :
(1) RBC — Which fight against germs that

may enter our body.
(2) WBC — Which contain a red pigment

called haemoglobin
(3) Pulse rate — Number of beats per minute.
(4) Veins — Carry oxygen-rich blood

38. ECG stands for :
(1) Electrocardiogram
(2) Electriccommongram
(3) Electriccoronarygraph
(4) Electrocoronarygram

39. Match the Columns :
Column - I Column - II

(a) Budding (i) Yeast
(b) Eye (ii) Potato
(c) Fragmentation (iii) Spirogyra
(d) Spores (iv)Bread mould
(1) (a-i), (b-ii), (c-iii), (d-iv)
(2) (a-i), (b-ii), (c-iv), (d-iii)
(3) (a-ii), (b-i), (c-iii), (d-iv)
(4) (a-ii), (b-i), (c-iv), (d-iii)

40. In which plant, roots can give rise to new plants ?
(1) Ginger (2) Bryophyllum
(3) Potato (4) Dahlia

34. (i) l w; Z l Hkh t hfor t hoksa ds fy,  Åt kZ dk vafre l zksr gSA
(ii) dsUæd v/ Z&rjy i nkFkZ l s f?kjk gksrk gS ft l s l kbVksIykTe

dgrs gSaA
(iii) dqLdqVk og i kS/ k gS t ks dhM+ksa dks i Q¡l krk gS vkSj • krk gSA
(iv)dod er̀ vkSj l M+us okys i nkFkZ l s v i uk i ks"k.k çkIr djrs

gSaA
fdrus dFku l gh gSa\
(1) , d (2) nks (3) rhu (4) pkj

35. çdk' k l a' ys"k.k dk mRi kn D; k gS \
(1) Xywdkst  vkSj vkWDl ht u
(2) Xywdkst  vkSj i kuh
(3) çksVhu vkSj vkWDl ht u
(4) çksVhu vkSj dkcZu MkbvkWDl kbM

36. i kS/ s esa Ýyks, e dh D; k Hkwfedk gS\
(1) t y , oa • fut  dk i fjogu
(2) Hkkst u dk i fjogu
(3) dkckZsgkbMªsV dk l a' ys"k.k
(4) t y dk vo' kks"k.k

37. l gh l qesfyr t ksM+s dk p; u djsa%
(1) RBC & t ks gekjs ' kjhj esa ços' k djus okys dhVk.kqvksa

l s yM+rs gSaA
(2) WBC & ft l esa gheksXyksfcu uked yky jaxæO;

gksrk gS
(3) ukM+h nj & çfr feuV chV~l  dh l a[ ; kA
(4) f' kjk, ¡ & vkWDl ht u ; qÙkQ jÙkQ ys t krh gSa

38. bZl ht h dk i qQy i QkeZ gS %
(1) bysDVªksdkfMZ; ksxzke
(2) bysfDVªddkWeuxzke
(3) bysfDVªddksjksujhxzki Q
(4) bysDVªksdksjksujhxzke

39. LrEHkksa dk feyku djsa%
LrEHk&I LrEHk&II

(a) eqdqyu (i) ; hLV
(b) vk¡• (ii) vkyw
(c) fo• aMu (iii) Li kbjksxkbjk
(d) cht k.kq (iv) czsM eksYM
(1) (a-i), (b-ii), (c-iii), (d-iv)
(2) (a-i), (b-ii), (c-iv), (d-iii)
(3) (a-ii), (b-i), (c-iii), (d-iv)

(4) (a-ii), (b-i), (c-iv), (d-iii)

40. fdu i kS/ ksa esa t M+sa u; s i kS/ ksa dks t Ue ns l drh gSa\
(1) vnjd (2) czk; ksi Qk; ye
(3) vkyw (4) Mkgfy; k
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41. Bar screens in wastewater treatment help to
remove which type of object :
(1) Rags, sticks and plastic packets
(2) Sand, grit and pebbles
(3) Microorganism
(4) Oil and soaps

42. The false feet of Amoeba are used for :
(1) Movement
(2) Exchange of gases
(3) Capture of food and movement
(4) All of the above
Direction (43-44) : Read the following passage
and give the answer of following questions.
“Plants are classified on the basis of differences
in their height, stems and branches. Branches
grow in some plants close to the ground and in
some plants higher up on the stems”.

43. On the basis of height and other characteristics
a rose plant is classified as :
(1) Herb (2) Shrub
(3) Tree (4) None of the above

44. A plant has green and tender stem. The plant is
most likely to belong to which category ?
(1) Herb (2) Shrub
(3) Tree (4) Can’t predict

45. Which of the following organisms move with the
help of muscular foot ?
(1) Snails (2) Earthworm
(3) Cockroach (4) All of the above

46. Choose the correct labelling in the given figure.

AB

C

D

(1) A – Vena cava
(2) B – Aorta
(3) C – Pulmonary artery
(4) D – Left ventricle

41. vi f' k"V t y mi pkj  esa ckj  LØhu fdl  çdkj  dh oLrq dks gVkus
esa enn djrh gSa%
(1) fpFkM+s] ydfM+; k¡ vkSj IykfLVd ds i SdsV
(2) jsr] d.k vkSj dadM+
(3) l w{et ho
(4) rsy vkSj l kcqu

42. vehck ds udyh i Sjksa dk mi ; ksx fd; k t krk gS%
(1) pyus esa
(2) xSl ksa dk vknku&çnku esa
(3) Hkkst u vkSj xfr djus esa
(4) mi jksÙkQ l Hkh
funZs' k (43&44) % fuEufyf• r x| ka' k dks i <+sa vkSj fuEufyf• r
ç' uksa ds mÙkj nsaA
¶i kS/ ksa dks mudh ÅapkbZ] rus vkSj ' kk• kvksa esa varj  ds vk/ kj  i j
oxhZÑr fd; k t krk gSA dqN i kS/ ksa esa ' kk• k, ¡ t ehu ds djhc vkSj
dqN i kS/ ksa esa rus ds Åi j  mxrh gSaA̧

43. ÅapkbZ vkSj vU;  fo' ks"krkvksa ds vk/ kj  i j  xqykc ds i kS/ s dks bl
çdkj  oxhZÑr fd; k x; k gS%
(1) t M+h&cwVh (2) >kM+h
(3) i sM+ (4) mi jksÙkQ esa l s dksbZ ugha

44. , d i kS/ s dk ruk gjk , oa dksey gksrk gSA i kS/ s ds fdl  Js.kh l s
l acaf/ r gksus dh l cl s vf/ d l aHkkouk gS\
(1) t M+h&cwVh (2) >kM+h
(3) o{̀k (4) ugha dg l drs

45. fuEufyf• r esa l s dkSu l k t ho i s' kh;  i Sj  dh l gk; rk l s pyrk gS\
(1) ?kksa?kk (2) dsapqvk

(3) dkWdjksp (4) mi jksÙkQ l Hkh

46. fn,  x,  fp=k esa l gh yscfyax pqusaA

AB

C

D

(1) A & osuk dkok

(2) B & egk/ euh

(3) C & i QqÝi Qql h;  / euh
(4) D &nk; k¡ fuy;
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47. In which year the government of India has
initiated “Swachh Bharat Mission” ?
(1) 2014 (2) 2015 (3) 2016 (4) 2020

48. Salmonella paratyphi  caused :
(1) Typhoid (2) Cholera
(3) Dysentery (4) None of the above

49. Fish excrete waste substances such as _____
which directly dissolve in water.
(1) Uric acid (2) Urea
(3) Ammonia (4) All of the above

50. Which one of the following has a different type of
joint than others ?
(1) Knee (2) Elbow
(3) Shoulder (4) Finger

51. Evaluate : 
( 16) [( 13) ( 3)]

( 60) ( 60)
    

  

(1) 2 (2) –1 (3) 1 (4) –2
52. If a and b are integers and a  b, then which of

the following is INCORRECT ?
(1) a + b = b + a (2) a – b = b – a
(3) a + 0 = 0 + a = a (4) a – 0 = a  0 – a

53. If we multiply a fraction by itself, the fraction

thus obtained is 
16
81 . The original fraction is :

(1)
8
27 (2)

22
3 (3)

11
3 (4)

4
9

54. Pictorial representation of 
23
3

  is :

(1) (2)

(3) (4) 

55. If the mean of 6, 8, 5, x and 4 is 7, then the
value of x is :
(1) 11 (2) 12 (3) 13 (4) 14

56. The median value of the given data is ______ .
98, 75, 96, 180, 270, 102, 94, 100, 610, 200, 75, 80
(1) 100 (2) 98 (3) 97 (4) 99

57. Sum of two numbers is 45. One is twice the other.
(a) If smaller number is l, find the other number.
(b) Find the equation formed.
(c) Find the numbers.

(a) (b) (c)
(1) 2l l + 2l = 45 10, 35
(2) 2l l + 2l = 45 15, 30
(3) l + 2 45 + l + 2 = l 15, 30
(4) l/2 45 + l/2 – l = 0 25, 20

47. Hkkjr l jdkj  us fdl  o"kZ LoPN Hkkjr fe' ku ' kq:  fd; k gS\
(1) 2014 (2) 2015 (3) 2016 (4) 2020

48. l kYeksusyk i SjkVkbi Qh ds dkj .k gksrk gS &
(1) Vkbi QkbM (2) gSt k
(3) i sfp' k (4) mi jksÙkQ esa l s dksbZ ugha

49. eNyh _________ t Sl s v i f' k"V i nkFkZ mRl ft Zr djrh gS t ks l hèks
i kuh esa ?kqy t krs gSaA
(1) ; wfjd , fl M (2) ; wfj ; k
(3) veksfu; k (4) mi jksÙkQ l Hkh

50. fuEufyf• r esa l s fdl esa nwl jksa dh rqyuk esa fHkUu çdkj  dk t ksM+
gS\
(1) ?kqVuk (2) dksguh
(3) da/ k (4) vaxqyh

51. ewY; kadu djsa ( 16) [( 13) ( 3)]
( 60) ( 60)

    
  

%

(1) 2 (2) –1 (3)  1 (4) –2
52. ; fn a vkSj b i w.kkZad gSa vkSj a  b, gS] rks fuEufyf• r esa l s dkSu

l k xyr gS\
(1) a + b = b + a (2) a – b = b – a
(3) a + 0 = 0 + a = a (4) a – 0 = a  0 – a

53. ; fn ge fdl h fHkUu dks ml h l s xq.kk djsa] rks bl  çdkj  çkIr fHkUu
16
81  gSA ewy fHkUu gS%

(1)
8
27 (2)

22
3 (3)

11
3 (4)

4
9

54.
23
3

  dk l fp=k çfrfuf/ Ro gS%

(1) (2)

(3) (4) 

55. ; fn 6] 8] 5] x vkSj 4 dk ekè;  7 gS] rks x dk eku gS%
(1) 11 (2) 12 (3) 13 (4) 14

56. fn,  x,  MsVk dk ekè;  eku ______ gSA
98] 75] 96] 180] 270] 102] 94] 100] 610] 200] 75] 80
(1) 100 (2) 98 (3) 97 (4) 99

57. nks l a[ ; kvksa dk ; ksx 45 gSA , d nwl jh l s nksxquh gSA
(a) ; fn NksVh l a[ ; k l gS] rks nwl jh l a[ ; k Kkr djsa
(b) l ehdj .kh;  : i  Kkr djsa
(c) l a[ ; k, a Kkr djsa

(a) (b) (c)
(1) 2l l + 2l = 45 10, 35
(2) 2l l + 2l = 45 15, 30
(3) l + 2 45 + l + 2 = l 15, 30
(4) l/2 45 + l/2 – l = 0 25, 20
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58. In the figure (not drawn to scale), ABC and CDE
are straight lines, ACE is a right angle,
DFCGBH. Find Y.

A

B

C D E

H

G

F
Y

28°

(1) 65° (2) 73° (3) 62° (4) 60°
59. In the figure (not drawn to scale), EFA is a

right-angled triangle with EFA = 90° and FGB
is an equilateral triangle, find y – 2x.

A

B

E F
y

x

92°
GC

(1) 2° (2) 8° (3) 17° (4) 20°

60.
25% of 50% of 100%

25 of 100 50% of 100  is equal to ______ .

(1) 0.0001% (2) 0.1% (3) 0.01% (4) 1%
61. A school has 560 students. The number of girls

is 
2

14 %
7

 of the number of boys. How many girls

are there in the school ?
(1) 100 (2) 80 (3) 49 (4) 70

62. Express 54 m as a percentage of 1 km 80 m.

(1)
5

3 %
7

(2) 5% (3)
1

37 %
7

(4) 50%

63. If 
x 9
y 8
 , then the value of 

6 y x
7 y x

 
  

 equals :

(1)
9

119 (2)
95

119 (3)
19
119 (4)

91
119

64. Divide the sum of 
5

12  and 
17
24


 by the product of

2
5  and 

7
4

. What is the result ?

(1)
8

37


(2)
5

12


(3)
6
31 (4)

3
12

58. fp=k esa (i Sekus i j  ugha • hapk x; k)] ABCvkSj CDE l h/ h js• k, a
gSa] ACE , d l edks.k gS] DFCGBH gSA Y Kkr djsaA

A

B

C D E

H

G

F
Y

28°

(1) 65° (2) 73° (3) 62° (4) 60°

59. fp=k esa (i Sekus i j  ugha)] EFA , d l edks.k f=kHkqt  gS ft l esa gS
EFA ¾ 90° rFkk FGB , d l eckgq f=kHkqt  gS rks y – 2x dk
eku Kkr dhft , A

A

B

E F
y

x

92°
GC

(1) 2° (2) 8° (3) 17° (4) 20°

60.
25% 50% 100%

25 100 50% 100
dk dk

dk dk  ds cjkcj  ______ gSA

(1) 0.0001% (2) 0.1% (3) 0.01% (4) 1%

61. , d Ldwy esa 560 Nk=k gSaA yM+fd; ksa dh l a[ ; k yM+dksa dh l a[ ; k

l s 2
14 %

7
 vf/ d gSA rks Ldwy esa fdruh yM+fd; k¡ gSa\

(1) 100 (2) 80 (3) 49 (4) 70

62. 54 ehVj dks 1 fdeh 80 ehVj ds çfr' kr ds : i  esa O; ÙkQ djsaA

(1)
53 %
7

(2) 5% (3)
137 %
7

(4) 50%

63. ; fn 
x 9
y 8
 ] rks 

6 y x
7 y x

 
  

dk eku cjkcj  gS %

(1)
9

119 (2)
95

119 (3)
19
119 (4)

91
119

64.
5

12  vkSj 
17
24


 ds ; ksx dks 
2
5 vkSj 7

4
ds xq.kui Qy l s foHkkft r

djus i j  bl dk i fj .kke gksxkA

(1)
8

37


(2)
5

12


(3)
6
31 (4)

3
12
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65. Ishika has designed a small oval race track for
her remote control car. Her design is shown in
the figure. What is the total distance around the
track ? Round your answer to the nearest whole
number.

52 cm

16 cm

16 cm

(1) 205 cm (2) 305 cm (3) 100 cm (4) 245 cm
66. Find the circumference of the circle that is

within a square if the area of the square is

81 cm2. 
22

Take
7

   
 

(1)
2

7 cm
7

(2)
2

14 cm
7

(3)
2

28 cm
7

(4)
9

63 cm
14

67. I f l  = –1 and m = 2, then the value of
4l2 + 9m2 + 2lm – 9l2m is _______ .
(1) 39 (2) 24 (3) 18 (4) 36

68. A vacuum cleaner set costs j 154.25 k. Additional
pipe costs j  15.2 k. What is the total cost of
3 vacuum cleaner sets and 5 additional pipes ?

(1) j  400 k (2) j  530.75 k

(3) j  538.75 k (4) j  600 k

69. The value of 
12 28 16

12 11 28
6 (35) (15)
(14) (21) 5

 

 
 is _______ .

(1) 26 × 316 × 512 (2) 317 × 516 × 75

(3) 26 × 516 × 712 (4) 27 × 317 × 75

70. The length of the sides of a triangle are 5 m,
1.2 decametre and 130 dm. Then its area is_____.
(1) 24 m2 (2) 30 m2 (3) 48 m2 (4) 40 m2

71. Which of the following figures does not have a
line of symmetry ?

(1) (2)

(3) (4)

65. bf' kdk us v i uh fjeksV daVªksy dkj  ds fy,  , d NksVk vaMkdkj jsl
VªSd fMt kbu fd; k gSA ml dk fMt kbu fp=k esa fn• k; k x; k gSA VªSd
ds pkjksa vksj  dqy nwjh fdruh gS\  v i us mÙkj dks fudVre i w.kZ
l a[ ; k esa fy[ ksaA

52 cm

16 cm

16 cm

(1) 205 cm (2) 305 cm (3) 100 cm (4) 245 cm

66. , d oxZ ds Hkhrj  ekSt wn oÙ̀k dh i fj f/  Kkr dhft , A ; fn oxZ dk

{ks=ki Qy 81 cm2 gSA 
22
7

   
 

yhft ,

(1)
27 cm
7

(2)
214 cm
7

(3)
228 cm
7

(4)
963 cm

14

67. ; fn l = –1 vkSj m = 2 gS] rks 4l2 + 9m2 + 2lm – 9l2m
dk eku _______ gSA
(1) 39 (2) 24 (3) 18 (4) 36

68. , d oSD; we Dyhuj l sV dh dher 154.25 gt kj  : i ; s gSA
vfrfjÙkQ i kbi  dk ykxr 15.2 gt kj  dh : i ; s gSA 3 oSD; we
Dyhuj l sV vkSj 5 vfrfjÙkQ i kbi  dk dqy ykxr fdruk gS %
(1) j  400 gt kj (2) j  530.75 gt kj
(3) j  538.75 gt kj (4) j  600 gt kj

69.
12 28 16

12 11 28
6 (35) (15)
(14) (21) 5

 

 
 dk eku _______ gSA

(1) 26 × 316 × 512 (2) 317 × 516 × 75

(3) 26 × 516 × 712 (4) 27 × 317 × 75

70. , d f=kHkqt  dh Hkqt kvksa dh yackbZ 5 ehVj] 1.2 MsdkehVj vkSj
130 Msl hehVj gSA rks bl dk {ks=ki Qy _____ gSA
(1) 24 eh2 (2) 30 eh2 (3) 48 eh2 (4) 40 eh2

71. fuEufyf• r esa l s fdl  vkÑfr esa l efefr js• k ugha gS\

(1) (2)

(3) (4)



Class-VII (Main)/014

72. Which of the following is arranged in ascending
order ?

(1)
7 5 2 3, , ,
4 8 3 6
   

(2)
2 7 5 3, , ,
3 4 8 6
   

(3)
7 2 5 3, , ,
4 3 8 6
   

(4)
7 2 3 5, , ,
4 3 6 8
   

73. A 34 m long ladder reached a window 16 m from
the ground on placing it against a wall. Find the
distance of the foot of the ladder from the wall.
(1) 40 m (2) 30 m (3) 50 m (4) 10 m

74. The given bar graph shows the demand and
production of colour T.Vs of five companies.

4000
3500
3000
2500
2000
1500
1000
500

0
A B C D E

3000

1500

600

1800

2500

1000
1200

2700

3300

2200

Companies

Demand

Production

Pr
od

uc
tio

n

What is the difference between average demand
and average production of the five companies
taken together ?

(1) 1400 (2) 400 (3) 280 (4) 138
75. Ram’s father’s age is 3 years more than two times

Ram’s age. Ram’s father is 45 years old. Form
an equation to find Ram’s age.
(1) 2x + 3 = 45 (2) 3x + 2 = 45

(3) 6x + 3 = 45 (4) 5x + 1 = 45
76. When 40257 divided by 213, the quotient is 189,

and remainder zero. What will be the quotient
when 40.257 is divided by 0.0189 ?
(1) 21300 (2) 213 (3) 1890 (4) 2130

77. The simple algebraic expression of
4st (s – t) – 6s2 (t – t2) – 3t2 (2s2 – s) + 2st(s – t) is
______ .
(1) –st2 (2) –2st2 (3) –3st2 (4) –4st2

78. The mean of 5 numbers is 20. If one number is
excluded, mean of the remaining numbers
becomes 23, then the excluded number is _____.

(1) 4 (2) 92 (3) 100 (4) 8
79. In a triangle ABC, A = 90° and D is the mid-

point of AC. The value of BC2 – BD2 is equal to :

(1) AD2 (2) 2AD2 (3) 3AD2 (4) 4AD2

72. fuEufyf• r esa l s fdl s vkjksgh Øe esa O; ofLFkr fd; k x; k gS\

(1)
7 5 2 3, , ,
4 8 3 6
   

(2)
2 7 5 3, , ,
3 4 8 6
   

(3)
7 2 5 3, , ,
4 3 8 6
   

(4)
7 2 3 5, , ,
4 3 6 8
   

73. 34 ehVj yach , d l h<+h nhokj  ds l keus j • us i j  t ehu l s
16 ehVj Åi j  , d f• M+dh rd i gqap xbZA nhokj  l s l h<+h ds i kn
dh nwjh Kkr dhft ; sA

(1) 40 ehVj (2) 30 ehVj (3) 50 ehVj (4) 10 ehVj

74. fn; k x; k ckj  xzki Q i kap dai fu; ksa ds jaxhu Vhoh dh ekax vkSj mRi knu
dks n' kkZrk gSA

i kapksa dai fu; ksa dh vkSl r ekax vkSj vkSl r mRi knu ds chp fdruk
varj  gS\

(1) 1400 (2) 400 (3) 280 (4) 138

75. jke ds fi rk dh vk; q] jke dh vk; q dh nks xquh l s 3 o"kZ vf/ d
gSA jke ds fi rk 45 o"kZ ds gSaA jke dh vk; q Kkr djus ds fy,
, d l ehdj .k cukb; sA
(1) 2x + 3 = 45 (2) 3x + 2 = 45
(3) 6x + 3 = 45 (4) 5x + 1 = 45

76. t c 40257 dks 213 l s foHkkft r fd; k t krk gS] rks Hkkxi Qy
189 gksrk gS] rFkk ' ks"k ' kwU;  cprk gSA t c 40.257 dks 0.0189
l s foHkkft r fd; k t krk gS] rks Hkkxi Qy D; k gksxk\
(1) 21300 (2) 213 (3) 1890 (4) 2130

77. l jy cht xf.krh;  vfHkO; fÙkQ 4st (s – t) – 6s2 (t – t2) – 3t2

(2s2 – s) + 2st(s – t) dk eku gS %
(1) –st2 (2) –2st2 (3) –3st2 (4) –4st2

78. 5 l a[ ; kvksa dk ekè;  20 gSA ; fn ,d l a[ ; k gVk nh t k, ] rks ' ks"k
l a[ ; kvksa dk ekè;  23 gks t krk gS] rks fudkyh xbZ l a[ ; k ____ gSA

(1) 4 (2) 92 (3) 100 (4) 8

79. f=kHkqt  ABC esa] A ¾ 90° vkSj D dk eè; &fcanq AC gSA rks
BC2 – BD2 dk eku cjkcj  gS%

(1) AD2 (2) 2AD2 (3) 3AD2 (4) 4AD2



Class-VII (Main)/015

80. In the figure (not drawn to scale), ABC and DEF
are two triangles, CA is parallel to FD and CFBE
is a straight line. Find the value of x + y.

51° yx

83°

C F B E

DA

(1) 185° (2) 134°

(3) 148° (4) 176°

81. Complete the second pair in the same way as
the first pair.

Problem Figure

?::
Answer Figure

(1) (2)

(3) (4)

82. Find the number that will replace the questions
mark.

10

48

8

4 8

15

78

10

9 8

12

?

11

4 8

(1) 88 (2) 100 (3) 32 (4) 132

83. Choose the word that completes the second pair,
in the same way as the first pair.

Magazine : Editor :: Drama : ?

(1) Director (2) Player

(3) Manager (4) Actor

84. Find the next/missing term in the following
series.

A, CD, GHI, ?, UVWXY

(1) LMNO (2) MNOL

(3) NOPQ (4) MNOP

80. vkÑfr esa (i Sekus i j  ugha • haph xbZ)] ABC vkSj DEF nks f=kHkqt
gSa] CA ds l ekukarj  FD  gS vkSj CFBE, d l h/ h js• k gS] rks
x + y dk eku Kkr dhft ; s.

51° yx

83°

C F B E

DA

(1) 185° (2) 134°
(3) 148° (4) 176°

81. nwl js t ksM+s dks Hkh i gys t ksM+s dh rjg gh i wjk djsaA

i z' u fp=k

?::
mÙkj  fp=k

(1) (2)

(3) (4)

82. og l a[ ; k Kkr dhft ; s t ks ç' u fpÉ dk LFkku ysxhA

10

48

8

4 8

15

78

10

9 8

12

?

11

4 8

(1) 88 (2) 100 (3) 32 (4) 132

83. og ' kCn pqusa t ks i gyh t ksM+h dh rjg gh nwl jh t ksM+h dks i wjk djrk gSA

i f=kdk % l ai knd %% ukVd % \

(1) funs' kd (2) f• ykM+h

(3) eSust j (4) vfHkusrk

84. fuEufyf• r Jà• yk esa vxyk@yqIr i n Kkr dhft ,A

A, CD, GHI, ?, UVWXY

(1) LMNO (2) MNOL

(3) NOPQ (4) MNOP
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85. Choose the figure which will complete the
following series.
Problem Figure

S S

S

?
Answer Figure

(1)
S

(2)
S

(3)
S

(4)
S

86. Which of the following interchange of signs would
make the given equation correct ?
5 + 3 × 8 – 12 ÷ 4 = 3
(1) + and ÷ (2) + and – (3) – and ÷ (4) + and ×

87. How many letters are there between 8th letter
from left and 7th letter from right in the English
alphabet ?
(1) 7 (2) 11 (3) 8 (4) 9

88. Choose the figure which is different from others.

(1) (2) (3) (4)

89. Select a figure from the given four alternatives,
which when placed in the blank space of problem
figure would complete the pattern.

?

(1) (2)

(3) (4)

90. In the following question, arrange the given
words in a meaningful sequence and then choose
the most appropriate sequence from the options
given below in the each questions.
1. Village 2. State 3. World
4. Country 5. District
(1) 1, 5, 3, 4, 2 (2) 1, 5, 2, 4, 3
(3) 1, 5, 3, 2, 4 (4) 1, 2, 5, 4, 3

85. og vkÑfr pqusa t ks fuEufyf• r Jà• yk dks i wjk djsxhA

i z' u fp=k

S S

S

?
mÙkj  fp=k

(1)
S

(2)
S

(3)
S

(4)
S

86. fuEufyf• r esa l s dkSu l k fpUgksa dk vknku&çnku fn,  x,  l ehdj.k
dks l gh cuk nsxk\
5 + 3 × 8 – 12 ÷ 4 = 3
(1) + vkSj ÷ (2)+ vkSj – (3) – vkSj ÷ (4) + vkSj ×

87. vaxzst h o.kZekyk esa ck, a l s 8osa v{kj  vkSj nk,a l s 7osa v{kj  ds chp
fdrus v{kj  gSa\
(1) 7 (2) 11 (3) 8 (4) 9

88. og vkÑfr pqusa t ks nwl jksa l s fHkUu gksA

(1) (2) (3) (4)

89. fn,  x,  pkj  fodYi ksa esa l s , d vkÑfr dk p; u djsa] ft l s l eL; k
vkÑfr ds fjÙkQ LFkku i j j• us i j i SVuZ i wjk gks t k, xkA

?

(1) (2)

(3) (4)

90. fuEufyf• r ç' u esa fn,  x,  ' kCnksa dks l kFkZd Øe esa O; ofLFkr djsa vkSj
fi Qj çR; sd ç'u esa uhps fn,  x,  fodYi ksa esa l s l cl s mi ; qÙkQ vuqØe
pqusaA
1. xkao 2. jkT; 3. fo'o
4. ns' k 5. ft yk
(1) 1, 5, 3, 4, 2 (2) 1, 5, 2, 4, 3

(3) 1, 5, 3, 2, 4 (4) 1, 2, 5, 4, 3
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91. Sachin is ranked 17th from the left in a row of
40 students. What is his rank from the right ?

(1) 23rd (2) 24th (3) 20th (4) 25th

92. Select a figure from the given four options which
fits exactly into figure (X) to form a complete
square.

(X)

(1) (2)

(3) (4)

93. In ‘NEUROTIC’ can be written as ‘TICRONEU’,
then how can ‘PSYCHOTIC’ be written in that
code ?

(1) TICOCHPSY (2) TICCHOPSY

(3) ICCOHPSYT (4) TICHCOPSY

94. Count the number of straight lines in the given
figure.

(1) 6 (2) 5 (3) 4 (4) 7

95. Amit walks 20 metres towards East. Turning to
the right he walks 50 metres, then turning left
he walks 20 metres, then turning left he walks
80 metres, then turning left he walks 40 metres
and stops. In what direction is he with respect
to his starting point?

(1) South (2) West

(3) North (4) East

96. Identify the diagram that best represent the
relationship among classes given.

Mammal, Dog, Bat

(1) (2)

(3) (4)

91. 40 Nk=kksa dh ,d i afÙkQ esa l fpu ck, a l s 17osa LFkku i j  gSaA nkb± vksj
l s og fdl  LFkku i j  gSA
(1) 23ok¡ (2) 24ok¡ (3) 20ok¡ (4) 25ok¡

92. fn,  x,  pkj fodYi ksa esa l s , d vkÑfr dk p; u djsa t ks i w.kZ oxZ cukus
ds fy,  vkÑfr (X) esa fcYdqy fi QV cSBrh gSA

(X)

(1) (2)

(3) (4)

93. ‘NEUROTIC’ dks ‘TICRONEU’, ds : i  esa fy• k t k l drk
gS] rks ‘PSYCHOTIC’ dks ml  dksM esa dSl s fy• k t k l drk gS\
(1) TICOCHPSY (2) TICCHOPSY

(3) ICCOHPSYT (4) TICHCOPSY

94. nh xbZ vkÑfr esa l h/ h js• kvksa dh l a[ ; k fxusaA

(1) 6 (2) 5 (3) 4 (4) 7

95. vfer i woZ dh vksj  20 ehVj pyrk gSA nkbZa vksj  eqM+dj og
50 ehVj pyrk gS] fi Qj  ckbZa vksj  eqM+dj og 20 ehVj pyrk gS]
fi Qj ckbZa vksj  eqM+dj og 80 ehVj pyrk gS] fi Qj  ckbZa vksj  eqM+dj
og 40 ehVj pyrk gS vkSj : d t krk gSA og vi us ' kq: vkrh fcanq
ds l aca/  esa fdl  fn' kk esa gS\
(1) nf{k.k (2) i f' pe
(3) mÙkj (4) i woZ

96. ml  vkjs•  dks i gpkusa t ks fn,  x,  oxks± ds chp l aca/  dks l cl s vPNk
n' kkZrk gSA
Lrui k; h] dqÙkk] pexknM+

(1) (2)

(3) (4)
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97. Figure (A) is embedded in anyone of the four
alternative figures (1), (2), (3) and (4). Find the
alternative which contains figure (A) as its part.

(A)

(1) (2)

(3) (4)

98. If ‘% ’ means ‘×’, ‘×’ means ‘÷’, ‘+’ means ‘–’ and ‘÷’
means ‘+’ then
258 × 6 + 10% 3 ÷ 3 = ?
(1) 10 (2) 12 (3) 18 (4) 16

99. Find out the correct alternative and write its
number against the corresponding questions on
your answer sheet.

:1111 111 :: : ?11

(1) 1 (2) 111

(3) 1111 (4) 1

100. Find the missing character the following figures.

3664

49

21
81121

100

?

(1) 40 (2) 30 (3) 20 (4) 10

97. vkÑfr (A) pkj  oSdfYi d vkÑfr; ksa (1)] (2)] (3) vkSj (4) esa l s
fdl h ,d esa varfuZfgr gSA og fodYi  Kkr dhft ,  ft l esa vkÑfr (A)
Hkkx ds : i  esa ' kkfey gSA

(A)

(1) (2)

(3) (4)

98. ; fn ‘%’ dk vFkZ ‘×’, ‘×’ dk vFkZ ‘÷’, ‘+’ dk vFkZ ‘–’ vkSj ‘÷’ dk
vFkZ ‘+’ gS rks
258 × 6 + 10% 3 ÷ 3 = ?
(1) 10 (2) 12 (3) 18 (4) 16

99. l gh fodYi  <wa<+sa vkSj ml dh l a[ ; k vi uh mÙkj i qfLrdk i j  l acaf/ r ç' uksa
ds l keus fy• saA

:1111 111 :: : ?11

(1) 1 (2) 111

(3) 1111 (4) 1

100. fuEufyf• r vkÑfr; ksa esa yqIr v{kj Kkr dhft ,A

3664

49

21
81121

100

?

(1) 40 (2) 30 (3) 20 (4) 10
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1.
2.
3.
4.
5.
6.
7.
8.
9.
10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.

(1)

(4)

(2)

(2)

(3)

(1)

(4)

(1)

(1)

(3)

(4)

(2)

(1)

(3)

(3)

(1)

(2)

(4)

(4)

(4)

(2)

(3)

(4)

(1)

(2)

26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.

51.
52.
53.
54.
55.
56.
57.
58.
59.
60.
61.
62.
63.
64.
65.
66.
67.
68.
69.
70.
71.
72.
73.
74.
75.

GTSE - Main Exam (24.12.2023)

ANSWER KEY
CLASS - 7

76.
77.
78.
79.
80.
81.
82.
83.
84.
85.
86.
87.
88.
89.
90.
91.
92.
93.
94.
95.
96.
97.
98.
99.
100.

(4)

(3)

(3)

(2)

(4)

(3)

(3)

(4)

(3)

(1)

(2)

(3)

(1)

(1)

(4)

(1)

(3)

(2)

(1)

(1)

(3)

(3)

(1)

(3)

(3)

(3)

(2)

(4)

(2)

(2)

(4)

(2)

(3)

(1)

(1)

(4)

(2)

(2)

(2)

(1)

(3)

(3)

(3)

(2)

(2)

(2)

(3)

(2)

(3)

(1)

(4)

(3)

(4)

(3)

(1)

(3)

(2)

(1)

(4)

(1)

(3)

(2)

(2)

(1)

(2)

(2)

(1)

(2)

(4)

(3)

(4)

(1)

(4)

(1)

(2)
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